FEE - FETOIIH A

~

JU-YRIOIIO N

AMR=YBXTOI IO b

GECEED

BAR—£HETPTVEADHE |
~U -l AL e 7o T

T LD - HHEBERDOIFHERZ A L .

N8 7% P~

-

[Bi59&]
BEMERER—~ Bk |
~¥uah—r it
Hs IR & 15 L 7R 9~

~

(8157 %)
2 A — B AR —~ Ok |
~AR=VBHHORFICLY,
M3 O MG, BUCIRELZ: & D
IR % Al ~

~

s N | N | N
[EE D 4E & A mik) [EfE 4 & AmiE) [EE D 4E & A mik)
1 HiEL - BRIEOFLEEMZ D 1 ESREMEDHEE 1 fHRELANLDOF YT - KED
=>HiE) - BEZEORSE - Mk SPEFE - RRA e o7 LA
BEMNICRD “BIFETIV” DR SEEERE. TV AR by TR
2 FELAIEFELLADEEEMHZ S IC & BEFEN - SAIEHIDRE
=5 2 FLIRDALEEZBLT 5 2 BEIREIRKEREDHE
it S 25 o [ B >R EIRERARERT 5 2 BREEHY - BB A — FEiE
IR S L WWGEGH o R = AR—"ViEEEEREHEC X 5 ik
3HRODLTFECTEAHERES DEEAL.
2¢3 3 fiREbIc L 2BEENER
SBAISENFEEER R, B >R D WL FRREE D HfE e 3 BERSEORFE—YEBIEORE
BEERL T 5 AE BB OB (B4 - BEL - ZEHL)
S - il O A& v F 7 — 2 i(L
_ J | J | L Y,

[(£4#EER (RSEHF) ]

BRHEARHER

1.63 (pfE2f) = 1.8H (R
OEIHER

3,805#8 = 4,5004.L4 |

[(£44EEF (RSEH) ]

OBEMNER
73% (&EBAD%) = 90%LLE (@E167)
A ES0 7 mbA b o bREEE  H30-R24)

OfFR ) BIRE .

88% = 100%
ML 72 LD )

[(£4#ER (RSEHF) ]

O7 nF¥-bxvy7 ¥ @ek-vvh—- 527¢-)
32%-h (&FE2fL) = 43F-LMBL_E (216D
OFZ=X7  ABORENR




